3apava 1.4

IaHo:
P,=2P;P,=4P;

l, =115L;1,= 2L; F, = F; F, = F;

ypaBHeHI/Ie paBHOBECUA:

ZM(B) = - N,-sin60°-5L - N,-L + 2P-2L + 4P-L =0

YpaeHeHue gedopmavuii;

A = A2.
5L-cos30° L
N;1,15L  Ny2L
0,231 =
EF EF
N, = 0,133N;;

433N, +0,133N, =-8P
446N, = -8P; N, = 1,79P

N, = 0,239P;
1,79P P 0,239P P
6= ——=179-,0,= =0,239— ;
F F F F
P
Cpmax = 01 = 1,79—

F
G, =300 MMa

A1



300-108-1-104
P=—_

2 = 16,7 kH
1,79

Ny, =G F,=30KkH; N, =G F,=30kH

T

Prpen = 0.541N . +0,125N,, = 0,541-30 + 0,125-30 = 20 kH

MpnP =P
G,=1,79-16,7-10 = 300MMa ; 6, = 0,239-16,7-10 = 40MMa ;

Mpn P =P

G, =300Mra ; G, = 300MMa ;

o[ MMNa]

300

40

B [xH]

0 16,7 20



IaHo:
A=1mm

l, =115L;1,= 2L; F, = F; F, = F;

YpaBHEHWe paBHOBECUS:
XM(B) = N,-sin60°-5L - N,-L =0
YpaeHeHue gedopmavuii;

A I

~ah = A2.
5L-cos30° ’

Jy+4330,=A;

=A

N;-1,15L N,-2L
+433

EF EF

AEF
115N, +8,66N , = —
L

N, = 4,33N,

AEF AEF
1,15N, +8,66:4,33N, =—; 38,7N, =——
L L

AEF AEF
N,=0,026 — ;N,=0,112 — ;
L L

i
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Al

=T




N; =0,517kH ; N, = 2,24kH ;

_ 0517108

-=517Ma ; o, =
140

Oy

2,24-103
110°

=22 4MMa ;
4



